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Q.2.
 Particulars Units | Rs.
Raw material consumed
Opening stock -
™ 62800
+ Purchase ﬁﬁ 185000
+ carriage inward e
T e —— |7 7150
Jiclosin_gr stock (ﬂ/ '7/#4:[45660*]
Direct wages /"—“7
Prinle_gost =
+ Factory overheads —
Drawing office salaries 4500 B
o N —’—*—‘7————‘—"
’F{_e_pgjfsrqf plant, Machinery tools /_4_452#
Rent, Rates & Taxes J ~{ 8500
Depreciation on plant & Machinery tools 16500
Gas and water charges (L _/fEQQ -
Manager salary (10000 x %) iy 7500
Workcost ] -
+ Office & administration overheads *
Counting house salary ,_’:Zfé%%g,ggf
e <
tes, taxes [ B
Rent, Rates, taxes ___ —————— 2100

7ol
126000
332950 |
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' Tlxed cost T ———

s gy N B T
9‘; \C/l'c —.|.A00000 ‘_6‘099‘(20 d> Fixed Cosy = Contnhutuor\ Profit
i‘ontrnhut ? ' s N / a0y 10000
on ? 2 - = 40000
() Fixed Lost o ?~ b) BEP inRs, = Fixed cost
_Proflt o /10000 50000 i . 4P/V Ratio
PV Ratip = Cor\tnhunon X100 ) 02%20
Sales i
20% = Contrih - UL
=0ntribution X 100
400000 . }7/ Lo
- = 80000
a) Salcs to e

arn proflt Rs 12000

b) Profitif sales Rs.{3,50,000
P/V ratio = Contribution X 100

Sales

260000
Qomoo ]

O

—— Sales
Cont”by}‘!grl 52000 20% = Contribution
() Fixed (40000] e
p—r(lm G o LFB :d cost
P A Profit = Cgntribution — Fize
e m;‘g'ue%x = ?’ 15000 - 40000
LA 00
20% = 52000 900
les
= 00
. r(\W
Q.4. Standard quantity for actual output revised Standard quantity S

Actual quantity

1250 x 800 = 833
A=10 kg?d kg @ « S50k 1250
1000k Y =

-m7
1250 x 400 = 41
B=10k . 500 k )

- sp) — (AQ x AP)
1) rcv (SgSOX)G)_WSOU))
— (500
B - (400 x 4) = (500 %5 {

p
2) MUV = (SQ—-AQ) X5 300 (F) 7

N

- (SP — AP) X
3) Mpv:%’_ﬂ 750 = 750 (A) 7
A 4 5)x500=500(A) /
B =l 1250 (A
yerification
MV = MPY *5"5‘% +100 (A)
1350 (A) =
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MMV = (RsQ - AQ) x sP WO( F )
A =(833 - 750) x 6 = 498'(F) .

66 (F)
5) MYV = (sQ-RsQ) x SP

A =(800-833)x 6 =198 (A)
B =(400-417)x4 =68 (A)
_266(A)

Verification
_MUV = MMV + MYV

100 (A) = 166 (F) + 266 (A)
OR
Q.4.3) MCV = (SQ x SP) — (AQ x AP)
A = (600 x 5)— (580 x 5.50) = 190 (A)
B = (90x 3)—(100 x 2.80) = 10 (A)
200(A)
b) MPV = (SP — AP) x AQ
A =(5-5.50) x 580 = 290 (A) /
B=(3-2.80)x 100 =20 (F) /
= 270(8)
: c) MUV = (SQ - AQ) x SP /
A =(600-580)x5=100 (F)
B =(90-100)x 3 =30 (A)
70 (F)
= Verification /

- MCV = MPV + MUV
200 (A) = 270(A) + 70 (F)

LCV = (SH x SR) — (AH — AR)

f A=(80x2)—(90x1.75)=1(A) //
—B B = (16X 2.8)— (14 X 2) = 16.8 (F)
- T5HE)

LRV = (SR — AR) X AH e
A (2-1.75) X 92 = 23 (F)
- (2.8-2)X14=11.2(F) /

3;1,2/@

Q - 5 Theory

)

B =(417-500) x4 = 332(a) ‘g’%g %3(‘\)
16666 (¢)

g;fl C[ O\\'\-‘%({‘. - \n"\;) > 1M .
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